111
11
14/4

|
r

WILDBEAR

Fitting Instructions From A.J.S Faprications
LS 7808 / LS 7809

Defender NAS Rear Towing
Step / NAS Rear Receiver

Our NAS Steps and receivers are designed for all Defender vehicles, they are shipped with
bracing bars suitable for 90 and 110.

KIiT CONTENTS

When working on your vehicle
1 x NAS Step/Receiver 9 y. .
4x Bracing Bars 90/110 please ensure that it is adequately
1x Spacer Bar

2x Large Washer
8x M6 Nuts

2x M16 x 30 Cap Heads

8x M10 x 30 Hex

8x M6 x 16 C/S

4x M12 x 50 Hex

4x M12 Nuts

2x M10 Nuts

1x Rubber Treadplate

TooLs REQUIRED

4mm Allen Key
14mm Allen Key
17mm Socket
19mm Socket
17mm Spanner
10mm Spanner

chocked, and where applicable
supported on axle stands.

If in doubt please refer to a
qualified technician or your
nearest Wildbear™ fitting centre.




-_
-
)

8 WILDBEAR
b
=S

Check you have all equipment needed before you begin and take relevant safety precautions,
make sure your vehicle is secure to prevent injury to yourself and others.

1, If your vehicle has an existing to‘vlbar or step, you will need to remove these before continuing.

A

DEFENDER

2, Clean the rear crossmember and prepare to fit your NAS. Remove the top left bolts from both
sides of the crossmember.




/]]

=8 WILDBEAR
——
=

3, Place NAS up to the chassis, through the rear of jacking tubes fasten with 2 M10 x 30mm bolts
and large washer (do not tighten at this point)

| \'




=0 WILDBEAR
=S

4, Fix outer end holes with 2 existing M10 x 30mm and 2 M10 nuts (do not tighten at this point)

5, Slide spacer bar between chassis and NAS under the rear brackets of the NAS step shown in
the picture and use bolts to fasten it in place.
(TD5 and Puma only)




=0 WILDBEAR
=S

6, Fix rear bracket using 3 M10 x 30mm under NAS into chassis (do not tighten at this point)

7, Fix 2 M16 cap heads into rear chassis (do not tighten at this point)

9, Tighten all bolts and check securely fitted.



7

=B WILDBEAR
)

10, Fit Rubber matting onto top of NAS using M6 dome heads as supplied

Your NAS is now ready

Thank you for buying and using Wildbear™ Products.
Proudly Designed and Manufactured in the UK

ﬁ.ﬂ.ﬁ Fanri;aﬂﬂnﬁ Parts and Accessories for Land Rovers

Head office: AJS Fabrications Limited, Unit 26 Crossgate Road, Park Farm Industrial Estate, Redditch, B98 7SN
Tel: +44 (0)1527 830552 Email: enquiries@wildbear4dx4.com Web: www.wildbeardx4.com



	Binder1
	BA 7599_BA 7598_BA 7596_BA 7597
	LS 7561

	nas fitting info



